Directions: Find the comrect ratio. Write your answer as a simplified FRACTION.
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Station 3

Directions: Find the indicated values. Round your answer the nearest TENTH
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ections: Solve for the indicated measures. Round your answers to nearest TENTH.
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tation 5

Directions: Solve the following word problems. Round your answer to the nearest HUNDREDTH.

1. A boy flying a kite lets out 300 feet of string which makes an angle of 380 with the ground. Assuming the string is straight, how

high above the ground is the kite? . i 2 200
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2. A free casts a shadow that is 42 feet long. The angle of elevation to the top of the tree is 380. How tallis the tree?
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3. Aradio tower is 78 feet tall. Find the angle of elevation to the top of the tower at ogpomt on level ground 60 feet from its base.
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lighthouse to the buoy. How tallis the lighthouse? T 1 =
Funl - L‘D

X"m
@

)

Scanned by CamScanner



‘ Find the missing side of the friangle. Then find the perimeter & the area. Leave al answers in simplified radical form!
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Station 7

Directions: Solve the right friangles completely. Round all answers to the nearest HUNDREDTH.
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